DISCUSSION 5
 Of 250 adults who tried a new multi-grain cereal, "Wow!", 187 rated it excellent; of 100 children sampled, 66 rated it excellent.

 

1. Using the 0.1 significance level and the alternate hypothesis  [image: image1.wmf] not equal to  [image: image2.wmf] , what is the null hypothesis? 
A. [image: image3.wmf]
B. [image: image4.wmf]
C. [image: image5.wmf]
D. None of these

2. What test statistic should we use? 
A. z-statistic
B. Right one-tailed test
C. Left one-tailed test
D. Two-tailed test
 A national manufacturer of ball bearings is experimenting with two different processes for producing precision ball bearings. It is important that the diameters be as close as possible to an industry standard. The output from each process is sampled and the average error from the industry standard is calculated. The results are presented below.
 [image: image6.wmf] 
The researcher is interested in determining whether there is evidence that the two processes yield different average errors. Assume that the population standard deviations are equal.

 

3. What is the null hypothesis? 
A. [image: image7.wmf]
B. [image: image8.wmf].
C. [image: image9.wmf]
D. [image: image10.wmf]
4. What is the alternate hypothesis? 
A. [image: image11.wmf]
B. [image: image12.wmf]
C. [image: image13.wmf]
D. [image: image14.wmf]
 

5. What is the degrees of freedom? 
 
 6. What is the critical t value at the 1% level of significance? 
 

7. What is the computed value of t? 
 

8. What is the decision at the 1% level of significance? 
A. Reject the null hypothesis and conclude the means are different.
B. Reject the null hypothesis and conclude the means are the same.
C. Fail to reject the null hypothesis and conclude the means are the same.
D. Fail to reject the null hypothesis and conclude the means are different.

9. If the calculated value of t is +2.70, what would be the decision using the 0.01 level of significance? 
A. Reject the null hypothesis and conclude the means are different.
B. Reject the null hypothesis and conclude the means are the same.
C. Fail to reject the null hypothesis and conclude the means are the same.
D. Fail to reject the null hypothesis and conclude the means are different.

10. This example is what type of test? 
A. One sample test of means.
B. Two sample test of means.
C. Paired t-test.
D. Test of proportions.

 

The results of a mathematics placement exam at two different campuses of Mercy College are as follows:
 [image: image15.wmf] 

 

11. What is the null hypothesis if we want to test the hypothesis that the mean score on Campus 1 is higher than on Campus 2? 
A. [image: image16.wmf]
B. [image: image17.wmf]
C. [image: image18.wmf]
D. None of these

 

12. What is the computed value of the test statistic? 
A. 9.3
B. 2.6
C. 3.4
D. 1.9

13. Given that the two population standard deviations are known, what is the p-value if the computed test statistic is 4.1? 
 
Accounting procedures allow a business to evaluate their inventory at LIFO (Last In First Out) or FIFO (First In First Out). A manufacturer evaluated its finished goods inventory (in $ thousands) for five products both ways. Based on the following results, is LIFO more effective in keeping the value of his inventory lower?
 [image: image19.wmf] 

 

14. What is the null hypothesis? 
A. [image: image20.wmf]
B. [image: image21.wmf]
C. [image: image22.wmf]
D. [image: image23.wmf]
 

15. What is the alternate hypothesis? 
A. [image: image24.wmf]
B. [image: image25.wmf]
C. [image: image26.wmf]
D. [image: image27.wmf]
 

 16. What is the degree of freedom? 
  
17. If you use the 5% level of significance, what is the critical t value? 
  
18. What is the value of calculated t? 
 
 19. What is the decision at the 5% level of significance? 
A. Fail to reject the null hypothesis and conclude LIFO is more effective.
B. Reject the null hypothesis and conclude LIFO is more effective.
C. Reject the alternate hypothesis and conclude LIFO is more effective.
D. Fail to reject the null hypothesis and conclude LIFO is not more effective.

 

20. This example is what type of test? 
A. One sample test of means.
B. Two sample test of means.
C. Paired t-test.
D. Test of proportions.

